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Your EAA Membership
Chapter 17 maintains our membership records.  This is important for two reasons.  First, and most important, we use
the info to correspond with our members.  Second, we are required to provide EAA Headquarters with a current
chapter roster each year.  To help update our records, we are asking everyone to please provide the following:
Name, Address, Phone Number, Email Address, and EAA member number.

Finally, we can�t emphasize enough the importance of full EAA membership.  This is especially critical in the current
climate of proposed GA user fee increases and other threats to your freedom to fly! For $40 a year for a single EAA
membership or $50 a year for family membership, you can add your clout to the battle, as well as get a great maga-
zine in Sport Aviation each month and lots of other member benefits. If you are not a current member  of the interna-
tional EAA organization, please join or renew your membership. Go to http://www.eaa.org/memberbenefits.html, or
call 800-843-3612.

In the words of Vintage Aircraft Association President, Geoff Robison, ��Let�s all pull in the same direction for the
good of aviation.  Remember, we are better together.  Join us and have it all�

CHAPTER 17 MEETINGS ARE NOW ON THE FIRST MONDAY OF
THE MONTH, UNLESS OTHERWISE POSTED!
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EAA Chapter 17
Membership Renewal

Name:_______________________________  EAA Member #______________

Address:_________________________________________________________

Email:___________________________ Phone:_________________________

Project or current aircraft or interest:____________________________________
Annual Dues run from January 1st to December 31 each year.
Type of Registration: Regular: ($20) Family: ($20), list names:____________________________________________
Student (Free for EAA Student members):
Address, email, and phone info is used to update CH 17 records, is voluntary, and is not shared outside of CH 17.  EAA
Member # is required for our annual EAA Chapter renewal.

Please print, fill out, and bring to the next meeting, or mail to CH 17 Treasurer, at the below address.  Please include a
check for $20.00 made to EAA Chapter 17.
Online registration (http://www.eaa17.org/EAA17membership.htm ) available using a credit card or Pay Pal
Thanks for your continued support!

Renew  online or by mail to:
Chapter 17
C/O PS Engineering
9800 Martel Road
Lenoir City TN 37772

Total amount of check $_____




